BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREKXEIRAO)
UNEEFS) TRE33ETA1H
R s | A0 Oisk 7% 21k 3k 4% 57k
5 % g8 % £ = L = g8 x L ©

ENY = 1TH 1,932 | 4,080 10 14 13 20 14 19 17 18 23 18 22 19
ENY = 2TH 773 1,645 5 8 3 5 7 4 7 7 9 7 6 6
H/IMNE 3TH 1417 | 2,742 5 3 14 7 5 6 12 7 13 8 11 10
EVINY = 4TH 1,788 3,518 14 7 12 15 13 9 13 17 10 13 11 15
HINE 5TH 2,105 | 3,764 10 10 15 17 15 13 9 14 18 12 15 10
B/hE 6TH 1,829 | 3,266 8 7 12 9 9 14 8 6 11 6 11 7
mINE 1TH 3252 | 5,480 23 11 24 17 21 10 16 18 15 22 21 16
mINE 2TH 1,291 2178 7 10 5 9 10 4 7 4 6 10 8 7
m/IhNE 3TH 2,894 | 5244 15 16 19 15 13 18 16 13 23 14 10 11
mINE 4TH 1,794 | 3,266 10 6 9 7 7 8 7 9 11 8 8 10
/NG 5TH 2173 | 3,828 12 9 8 16 13 14 16 11 9 9 12 11
m/INE 1TH 1,019 | 2,158 7 12 8 6 9 7 6 5 9 8 7 5
mE/NhNE 2TH 1,725 | 3,452 9 2 4 8 10 6 4 9 9 4 14 8
mE/NhNE 3TH 1,771 3,390 9 8 18 6 26 9 12 14 10 12 15 10
mE/NhNE 4TH 1,617 | 3,231 6 4 12 8 11 8 9 7 11 6 13 16
m/NhNE 5TH 2,041 3,832 12 14 12 5 20 15 17 12 16 14 11 10
mE/NhNE 6TH 2,431 4015 9 5 8 15 14 6 14 8 10 10 7 9
mE/NhNE 7TH 3269 | 5558 21 14 19 15 24 15 14 15 14 25 24 13
m/NhNE 8TH 2115 | 3573 11 11 15 14 22 10 20 9 7 10 14 12
d/hE 1TH 1,294 | 2,266 6 5 12 6 6 8 8 5 5 5 13 7
d/hE 2TH 2,900 | 5,352 16 15 16 18 15 22 22 20 25 18 17 17
d/hE 3TH 1,363 | 2,535 14 5 10 7 8 14 13 3 10 10 12 12
d/hE 4TH 2,297 | 4,487 13 9 26 26 20 20 15 19 20 28 20 14
d/hE 5TH 1,769 | 3,045 11 7 6 7 9 6 9 15 1 9 8 10
d/hE 6TH 2512 | 4,627 17 7 12 11 14 11 18 14 27 23 24 12
d/hE 7TH 1,488 | 3,237 14 21 21 10 19 12 18 11 14 18 12 23
dt/ha 8TH| 1682] 3721 9 16 9 14 14 16 19 17 19 14 9 20
&8 52541 | 97,490 303 256 342 313 368 304 346 307 355 341 355 320
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) ER33ETA1H
G 67 Ti% 8i% 9% 107% 115 125% 135% 147% 155%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 15 18 16 23 14 22 19 19 20 16 20 24 21 16 19 19 24 26 21 18
HING 2TH 10 3 5 7 7 4 6 9 2 2 9 9 6 10 7 6 11 8 9 7
HINE 3TH 12 14 11 12 12 10 11 13 6 10 15 9 19 13 12 10 12 10 5 15
EXINY = 4TH 22 13 15 21 12 19 21 17 9 19 9 9 11 18 17 11 10 10 9 9
EXINY = 5TH 12 10 12 13 18 10 18 7 12 9 10 14 12 9 6 10 6 15 11 11
ENY= 6TH 14 11 11 11 3 19 10 9 13 9 15 12 9 10 13 18 7 13 13 8
NG 1TH 15 16 19 15 12 18 19 10 16 16 19 18 25 15 23 10 23 12 21 10
mINE 2TH 2 6 11 7 8 3 8 3 7 5 7 13 3 8 9 5 7 3 2 9
NG 3TH 19 13 11 20 18 12 13 12 14 22 17 23 18 20 21 21 20 24 16 17
NG 4TH 6 11 7 10 8 16 14 10 9 7 6 9 5 11 12 17 14 8 8 6
NG 5TH 16 8 8 14 9 8 13 6 14 12 20 5 14 18 19 19 15 20 15 19
m/INE 1TH 12 6 7 8 5 8 9 8 15 7 9 5 10 14 8 12 15 10 8 14
mE/NhNE 2TH 11 14 14 7 6 9 9 13 15 10 13 13 10 18 15 14 14 15 18 15
m/NhNE 3TH 15 15 10 9 19 15 13 10 16 22 14 13 19 10 17 7 21 9 9 13
mE/hNE ATH 14 10 10 20 18 20 12 14 14 11 13 20 18 20 10 17 15 8 12 13
mE/NhNE 5TH 25 9 9 14 11 10 17 18 5 11 21 9 16 10 11 19 11 12 14 15
mE/hNE 6TH 14 10 9 10 13 13 8 8 17 10 9 14 5 5 9 10 7 11 7 5
m/hNE 7TH 16 26 19 16 15 18 14 14 14 15 16 10 18 14 13 9 12 15 15 18
m/hNE 8TH 12 14 18 9 11 10 7 8 5 9 6 7 12 9 8 2 9 3 9 8
d/hE 1TH 9 8 9 8 5 7 9 8 7 8 12 7 7 6 10 10 8 5 7 8
d/hE 2TH 28 19 22 16 30 15 18 13 22 17 18 20 20 22 23 21 24 14 14 17
d/hE 3TH 7 6 11 4 11 6 5 6 8 8 11 10 6 11 6 8 11 4 8 12
d/hE ATH 19 13 25 15 18 18 27 10 12 12 14 20 19 18 28 16 24 16 18 17
d/hE 5TH 12 8 11 10 10 7 11 12 12 10 4 12 9 12 9 7 8 11 10 8
d/hE 6TH 17 18 13 12 15 18 19 19 15 19 13 13 24 12 12 14 25 15 15 7
d/hE 7TH 13 11 13 13 23 17 13 9 17 12 11 9 13 13 17 20 13 25 11 15
dt/ha 8TH 20 18 14 17 24 17 19 21 17 21 15 26 15 20 13 26 19 21 18 30
=X 387 328 340 341 355 349 362 306 333 329 346 353 364 362 367 358 385 343 323 344 \
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) ER33ETA1H
G 167% 177% 187% 197% 207% 215% 225% 23i% 247% 255%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 21 17 18 21 23 27 19 25 29 21 21 17 26 24 23 18 26 22 23 29
ENY= 2TH 5 6 5 13 9 8 11 6 12 15 7 8 7 10 8 17 6 5 13 6
H/IMNE 3TH 8 10 11 14 12 12 12 11 13 13 23 10 16 12 17 24 21 21 21 23
XN = 4TH 19 13 14 6 20 15 14 15 16 27 16 22 20 30 24 24 21 32 14 16
HINE 5TH 8 18 12 12 11 17 8 14 19 23 13 19 26 20 29 32 31 29 26 28
HINE 6TH 11 7 10 11 22 14 12 14 23 17 16 20 22 31 19 19 28 26 26 21
m/IhNE 1TH 19 16 12 25 13 15 22 30 33 25 25 31 34 23 47 46 48 40 43 38
NG 2TH 5 6 8 2 5 8 9 3 6 10 11 15 14 23 11 17 17 12 22 15
m/NE 3TH 16 15 23 23 22 17 18 24 19 29 42 25 22 40 38 27 46 44 38 36
N = 4TH 16 16 8 13 12 10 18 10 25 19 20 18 17 17 33 27 29 27 26 19
m/NE 5TH 20 25 18 17 12 12 23 19 22 21 25 26 31 14 33 30 35 23 26 30
m/hNE 1TH 10 12 10 17 10 8 13 17 10 14 12 12 17 6 10 17 13 12 11 14
mE/NhNE 2TH 20 18 20 23 7 16 24 16 17 25 18 19 25 16 16 28 23 26 17 13
m/NhNE 3TH 20 14 13 13 14 15 19 6 14 12 18 11 20 18 29 23 34 14 23 30
mE/hNE ATH 15 11 19 11 14 15 16 16 22 12 23 9 12 15 19 18 27 12 13 20
mE/NhNE 5TH 17 13 14 9 15 24 20 14 23 20 25 17 25 23 25 17 34 29 28 24
mE/hNE 6TH 11 9 10 11 6 14 17 18 15 13 19 26 31 23 30 33 28 30 28 33
m/hNE 7TH 15 16 10 14 23 15 19 21 21 31 26 37 38 36 38 38 44 53 31 40
m/hNE 8TH 6 13 6 11 11 14 9 7 22 22 18 28 27 31 35 24 32 30 24 29
d/hE 1TH 2 7 3 10 7 16 7 5 9 12 13 8 14 5 12 20 16 20 17 15
d/hE 2TH 23 18 19 27 13 30 33 20 22 29 24 37 36 29 37 29 48 31 40 35
d/hE 3TH 9 4 9 13 9 8 12 11 15 14 21 18 12 22 22 27 23 27 33 22
d/hE ATH 16 17 23 19 23 25 14 16 26 16 28 20 27 27 33 34 32 30 42 20
d/hE 5TH 10 11 11 7 9 11 14 13 15 14 6 16 18 16 27 20 26 31 26 30
d/hE 6TH 12 20 12 16 15 15 22 25 17 20 29 24 36 36 33 29 41 40 27 29
d/hE 7TH 14 22 18 15 15 16 19 13 17 16 23 16 17 17 21 21 16 20 14 31
dt/ha 8TH 16 18 23 13 35 19 26 11 21 21 16 24 13 17 26 19 17 17 18 28
&5 364 372 359 386 387 416 450 400 503 511 538 533 603 581 695 678 762 703 670 674 |
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BT T &5 -E55 - B&h et GIFIRX)

BT BAl-F55-B&h etk (EREAXG/RAD)

UNERERD) FRIIEFTAIH
R 267% 27i% 287% 297% 307% 315% 325% 33i% 3475 35i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 20 18 24 25 28 23 24 22 25 26 33 34 15 18 22 20 34 32 32 20
ENY= 2TH 8 5 12 11 12 11 7 9 7 9 4 7 11 8 7 4 13 8 8 10
ENY= 3TH 17 20 14 17 17 12 15 15 12 22 16 11 22 18 17 14 16 1 13 25
HINE 4TH 22 26 21 28 18 23 31 24 11 19 15 18 32 15 22 21 21 24 23 29
HINE 5TH 34 37 25 16 34 33 31 30 27 34 32 26 27 28 31 21 26 27 23 27
HINE 6TH 25 31 27 22 34 15 24 19 19 27 22 24 23 12 17 17 22 21 23 18
NG 1TH 41 44 54 51 39 48 43 39 47 37 41 33 47 31 30 38 38 33 50 51
NG 2TH 26 21 25 17 16 10 15 21 17 17 23 14 23 18 19 12 20 12 15 16
NG 3TH 31 47 42 43 54 38 39 26 32 50 41 31 35 38 42 30 28 41 36 46
NG 4TH 24 25 25 19 30 22 28 19 26 26 25 14 29 29 19 13 24 14 23 16
m/IhNE 5TH 28 31 33 30 39 21 42 27 29 30 25 26 33 34 29 29 38 29 30 31
m/hNE 1TH 12 12 11 14 14 8 10 13 8 6 13 14 11 6 14 4 10 8 7 13
mE/NhNE 2TH 17 12 15 17 16 14 22 18 14 12 7 15 20 14 18 10 15 18 23 17
m/NhNE 3TH 23 33 23 17 21 21 19 11 20 19 28 18 16 11 18 21 15 17 20 17
mE/hNE ATH 17 11 18 17 17 13 19 21 23 14 15 12 13 19 19 21 15 12 16 18
mE/NhNE 5TH 28 15 39 22 24 23 26 18 13 18 21 20 28 25 27 24 32 24 25 24
mE/hNE 6TH 42 32 38 34 33 35 38 29 38 33 33 32 38 30 37 22 32 24 32 26
m/hNE 7TH 65 44 49 45 35 42 43 36 43 45 48 37 38 41 38 41 36 35 38 32
m/hNE 8TH 50 30 36 29 29 37 38 38 30 25 21 24 29 25 19 18 32 25 29 26
d/hE 1TH 15 15 21 22 11 24 24 14 15 18 16 16 21 14 17 15 18 19 15 11
d/hE 2TH 39 35 45 31 34 38 28 37 33 33 26 29 40 32 25 37 33 31 36 26
d/hE 3TH 18 23 22 24 23 16 20 19 26 12 6 22 19 15 21 22 17 15 23 9
d/hE ATH 30 30 39 33 24 24 32 27 33 28 40 25 29 22 33 30 33 24 45 34
d/hE 5TH 24 23 34 13 23 24 22 17 18 14 16 26 26 18 31 23 24 19 22 11
d/hE 6TH 36 33 26 30 34 24 25 24 28 39 42 30 26 29 34 35 40 38 24 41
d/hE 7TH 18 16 22 25 31 17 19 17 20 24 15 20 25 16 28 25 19 25 24 13
dt/ha 8TH 11 17 15 21 19 18 26 15 26 11 14 12 22 22 21 15 18 15 19 22
&5 721 686 755 673 709 634 710 605 640 648 638 590 698 588 655 582 669 601 674 629
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNERERD) FRIIEFTAIH
G 367 375 38 395% 407% A% 425% 435% 447 457%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 33 15 28 28 27 21 21 34 30 17 27 29 26 33 26 29 30 28 34 32
HINE 2TH 14 7 6 7 10 12 6 6 9 2 5 6 11 10 18 9 13 15 16 11
ENY= 3TH 18 16 23 13 22 20 12 10 15 17 13 17 17 18 23 19 23 20 19 17
HINE 4TH 24 26 23 20 40 35 28 28 19 19 20 21 34 20 24 19 20 27 18 22
EXINY = 5TH 26 30 33 26 35 29 22 29 29 19 37 15 25 19 31 27 29 29 40 30
ENY= 6TH 24 18 23 12 23 20 21 18 28 18 21 16 18 19 21 24 25 17 30 26
NG 1TH 55 38 40 42 40 40 44 39 45 31 36 29 35 45 52 40 44 37 42 51
NG 2TH 20 13 13 11 14 23 15 20 16 9 20 14 18 13 20 16 17 19 17 16
m/INE 3TH 36 40 45 35 33 42 24 26 43 41 32 27 34 34 31 28 50 34 26 38
NG 4TH 17 15 30 24 15 15 18 13 26 20 17 32 32 17 20 17 20 24 27 23
m/INE 5TH 27 18 22 17 25 23 17 23 31 33 24 21 17 28 23 22 26 24 28 29
m/INE 1TH 13 22 16 16 12 6 13 12 12 11 14 9 13 12 15 12 17 16 15 10
mE/NhNE 2TH 19 17 20 13 16 12 16 8 16 9 23 20 19 14 25 22 18 21 19 22
m/NhNE 3TH 24 19 18 19 27 29 19 25 24 23 20 26 24 26 26 18 29 27 24 20
mE/hNE ATH 20 18 14 16 26 15 16 20 18 19 24 19 21 18 20 26 26 32 30 24
mE/NhNE 5TH 24 26 25 30 25 31 19 23 23 21 30 15 27 28 20 26 22 17 37 18
mE/hNE 6TH 40 25 22 16 24 27 20 23 21 24 25 18 26 17 33 23 34 21 29 28
m/hNE 7TH 34 37 52 34 40 32 46 34 47 34 44 31 36 40 41 28 42 43 44 28
m/hNE 8TH 38 20 35 22 27 31 26 28 21 18 32 22 20 24 33 26 22 31 36 30
d/hE 1TH 15 11 18 11 15 20 13 13 14 16 24 25 17 17 18 13 17 11 16 11
d/hE 2TH 37 38 43 33 38 43 37 27 28 31 39 30 40 37 40 37 45 30 38 44
d/hE 3TH 12 25 17 19 21 11 13 16 23 7 13 20 12 12 19 23 22 11 19 14
d/hE ATH 29 23 29 28 26 29 33 31 29 22 35 24 32 25 27 35 27 23 35 36
d/hE 5TH 24 15 16 16 20 20 16 17 20 19 18 19 25 15 20 16 29 28 37 19
d/hE 6TH 30 31 34 34 32 36 42 23 36 29 29 26 27 30 40 32 34 32 26 25
d/hE 7TH 20 24 17 15 21 16 27 16 22 14 19 30 29 19 25 18 23 22 17 18
dt/ha 8TH 20 23 22 20 16 23 28 26 9 25 31 39 32 24 26 23 30 29 20 27
&5 693 610 684 577 670 661 612 588 654 548 672 600 667 614 717 628 734 668 739 669
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BT T &A0-FE55- 85 et GIFNIRX)
ETT BRI -F55- 5% Hatx (FREXREIRAD)
UNEBHFR) THR33FTA1E
R 467% 475% 487% 497i% 507% 517% 527% 537% 547% 557%
5 T 5 T 5 T E:] 58 E2] 8 5 T 5 T 5 X 3 = E2] =

ENY= 1TH 36 32 48 45 38 28 42 27 37 33 34 34 26 26 39 26 27 24 25 17
ENY= 2TH 18 14 9 15 22 19 23 17 12 15 8 13 13 15 21 16 16 12 13 6
ENY= 3TH 22 28 18 22 28 22 32 22 31 22 18 21 24 19 24 17 23 18 26 15
EXINY = 4TH 21 24 21 25 26 20 27 32 31 23 28 21 20 22 30 21 12 28 27 25
HINE 5TH 22 25 22 26 37 26 17 13 33 27 29 26 28 29 25 27 20 15 30 24
H/IMNE 6TH 29 32 25 18 24 26 25 23 20 20 26 19 36 27 24 29 13 24 25 25
Y= 1TH 41 57 55 43 47 40 52 56 50 40 54 45 41 50 41 37 32 36 32 27
mINE 2TH 17 14 22 18 26 22 21 24 20 9 28 17 15 16 16 14 14 15 18 13
m/hE 3TH 39 45 27 40 57 41 49 46 40 33 47 37 39 42 35 35 45 42 45 36
mINE 4TH 24 21 24 24 29 26 27 34 25 23 33 39 27 25 25 28 30 26 34 19
m/IhNE 5TH 40 27 29 33 35 28 34 43 34 37 30 33 35 33 40 32 31 23 32 30
mE/INE 1TH 20 21 22 20 22 17 22 18 21 21 32 24 27 21 27 19 22 18 20 21
B S 2TH 36 25 33 46 37 33 30 42 32 34 30 27 31 27 23 18 37 32 20 21
B S 3TH 25 31 21 29 32 26 32 22 34 30 20 15 27 34 31 28 31 29 32 22
B 4TH 28 31 27 25 39 28 30 19 41 25 23 25 27 14 31 25 21 25 17 20
B S 5TH 25 20 23 23 41 24 32 40 22 23 36 41 35 37 33 23 31 26 32 19
B 6TH 28 22 28 25 23 36 26 18 29 31 26 29 35 28 27 28 34 30 33 17
B S 7TH 55 31 57 39 50 45 41 50 58 51 49 38 44 45 44 39 41 46 37 31
B 8TH 34 25 34 27 34 37 37 37 23 22 35 20 25 33 24 24 23 22 14 29
d/hE 1TH 22 16 12 13 27 14 21 23 14 18 17 15 15 28 20 23 17 13 18 14
d/hE 2TH 42 37 37 40 44 51 46 39 50 48 38 42 39 31 48 33 47 51 32 35
d/hE 3TH 24 15 18 17 20 12 19 15 29 19 23 16 16 18 14 22 11 20 17 14
d/hE 4TH 41 26 43 31 39 34 41 32 48 36 41 22 33 40 28 36 31 33 17 36
d/hE 5TH 22 24 22 21 23 24 23 18 30 25 24 13 25 16 15 26 20 17 15 18
d/hE 6TH 33 39 45 23 40 23 38 41 46 38 42 42 57 31 39 28 24 33 31 19
d/hE 7TH 22 20 28 32 33 23 31 26 26 27 33 22 23 15 14 25 28 16 22 25
/e 8TH 41 29 25 39 38 38 35 29 39 31 30 37 37 30 28 25 31 27 22 25
=X 807 | 731 775] 759 | 911 763 | 853 | 806 | 875| 761 834] 733] 800 752| 766| 704| 712 701| 686 | 603 ]
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNERERD) FRIIEFTAIH
7R 56% 575% 587% 597% 607% 617% 627% 63i% 647% 657%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

QY= 1TH 27 28 26 24 34 24 23 23 34 14 18 24 24 24 22 19 19 17 17 17
HING 2TH 11 15 11 10 14 7 9 5 13 8 11 8 8 6 8 10 10 14 10 8
ENY= 3TH 24 19 18 14 27 22 23 19 11 14 12 12 14 17 15 13 13 12 14 9
HINE 4TH 25 22 27 23 23 19 22 18 13 16 20 14 21 15 18 22 17 14 18 14
HINE 5TH 16 26 31 25 15 33 24 28 30 33 26 24 23 21 16 16 28 13 15 16
HINE 6TH 24 30 27 20 17 20 21 14 22 19 8 17 26 23 17 22 16 14 19 15
mINg 1TH 42 45 46 40 38 24 26 41 31 35 26 25 34 21 24 21 30 22 32 23
LN = 2TH 15 13 15 11 14 11 13 10 13 13 7 11 12 11 7 7 11 9 11 17
NG 3TH 44 34 34 33 40 42 34 25 17 28 20 31 26 31 37 27 33 24 25 24
NG 4TH 25 19 29 23 21 14 23 20 16 16 19 25 22 16 12 18 27 14 20 17
NG 5TH 23 35 31 34 21 19 28 21 19 22 26 26 29 12 22 12 21 17 16 23
m/hNE 1TH 15 18 18 17 12 13 10 10 13 16 12 8 8 9 13 5 9 8 12 9
mE/NhNE 2TH 29 32 28 21 18 22 23 19 32 21 16 16 15 21 16 7 22 10 15 8
m/NhNE 3TH 31 23 19 18 23 19 37 20 19 21 15 21 28 13 18 19 23 10 16 17
mE/hNE ATH 30 27 22 25 23 18 22 18 27 7 12 20 15 18 23 20 21 15 14 16
mE/NhNE 5TH 24 30 37 29 20 35 28 27 30 24 36 17 17 31 21 23 25 18 24 20
mE/hNE 6TH 35 25 21 21 23 30 30 27 23 24 23 23 31 20 24 23 18 23 20 24
m/hNE 7TH 38 38 47 39 40 22 32 31 41 28 32 33 37 26 25 29 27 26 30 24
m/hNE 8TH 28 14 22 14 24 18 23 22 20 21 30 20 19 21 17 23 15 13 14 15
d/hE 1TH 17 5 22 15 6 20 11 15 17 10 8 15 7 16 19 19 16 8 18 17
d/hE 2TH 39 48 45 46 36 33 38 29 34 38 32 32 28 23 24 29 29 29 23 30
d/hE 3TH 17 14 21 9 28 19 13 10 9 16 11 10 12 6 13 13 13 9 10 22
d/hE ATH 29 27 25 32 39 32 29 18 21 23 28 29 23 19 28 14 26 17 23 23
d/hE 5TH 22 22 21 16 21 25 18 16 16 23 18 18 22 11 16 23 17 18 19 20
d/hE 6TH 28 24 28 24 28 28 31 24 31 28 21 22 32 24 32 27 30 23 22 27
d/hE 7TH 19 16 16 11 20 14 13 19 19 17 24 27 20 13 9 17 22 6 17 15
dt/ha 8TH 21 22 31 23 38 21 28 22 18 23 18 18 17 17 23 19 23 9 20 24
&5 698 671 718 617 663 604 632 551 589 558 529 546 570 485 519 497 561 412 494 494 |

7/12 R—



BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNERERD) FRIIEFTAIH
R 667% 677% 687% 697% 705% % 125% 13% 145% 15i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 22 19 11 23 21 16 24 17 19 32 25 25 24 26 27 19 20 34 9 10
HING 2TH 12 10 12 7 9 8 9 7 7 3 14 9 7 14 16 20 10 8 5 5
ENY= 3TH 13 7 19 13 9 10 14 6 22 15 14 24 24 20 15 22 13 13 14 12
XN = 4TH 19 21 15 21 17 16 16 21 25 16 21 15 32 30 30 19 29 24 7 18
HINE 5TH 18 23 23 18 17 18 17 24 18 22 29 33 28 29 33 35 23 22 9 14
HINE 6TH 17 22 17 15 16 20 26 10 22 24 15 22 26 27 22 31 22 32 4 15
NG 1TH 26 33 20 22 37 26 32 34 32 31 20 42 31 33 41 30 34 37 21 15
LN = 2TH 13 12 13 11 10 9 24 8 13 13 10 12 13 16 15 15 22 12 6 12
NG 3TH 26 35 31 23 30 25 31 30 42 37 45 25 33 46 33 33 21 40 15 20
N = 4TH 21 19 20 12 21 22 12 19 17 19 14 27 25 26 19 24 23 19 16 13
NG 5TH 20 21 15 15 25 19 22 18 20 19 23 16 29 20 22 35 20 21 15 17
m/hNE 1TH 12 14 6 9 15 11 10 5 11 12 16 13 10 13 15 9 5 12 7 9
mE/NhNE 2TH 13 14 13 19 19 28 12 13 27 24 23 29 25 28 31 36 28 44 18 17
m/NhNE 3TH 20 10 18 17 19 21 15 13 19 17 15 23 12 11 26 26 22 15 10 19
mE/hNE ATH 16 15 15 16 21 23 16 17 17 21 18 18 25 23 16 30 15 22 15 16
mE/NhNE 5TH 17 14 24 19 29 20 22 20 19 21 25 25 23 16 32 21 25 19 12 21
mE/hNE 6TH 33 17 22 25 30 22 21 30 24 23 33 39 43 25 38 36 20 31 16 23
m/hNE 7TH 16 20 17 21 22 42 26 25 40 31 32 48 34 48 41 41 28 37 25 27
m/hNE 8TH 23 12 24 21 18 12 16 18 23 22 19 17 24 17 23 22 16 28 13 14
d/hE 1TH 7 14 14 15 22 12 5 13 14 14 14 19 17 19 13 26 16 10 11 16
d/hE 2TH 30 36 25 30 26 37 30 34 37 30 43 51 49 32 33 33 36 32 15 23
d/hE 3TH 15 11 9 9 14 13 14 15 14 20 18 21 28 12 17 22 14 15 9 3
d/hE ATH 27 21 26 27 18 16 22 24 25 24 29 21 24 35 33 30 24 30 13 13
d/hE 5TH 16 23 14 11 20 16 17 20 19 16 19 23 26 18 25 35 29 21 13 17
d/hE 6TH 35 16 26 27 18 25 26 30 36 23 33 28 37 31 39 32 34 41 21 13
d/hE 7TH 21 19 15 11 13 20 13 15 15 16 20 17 23 13 24 26 15 22 14 10
dt/ha 8TH 19 19 21 17 24 12 12 23 20 12 20 28 26 23 24 22 19 25 7 15
&5 527 497 485 474 540 519 504 509 597 557 607 670 698 651 703 730 583 666 340 407 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNERERD) FRIIEFTAIH
R 767% 175% 787% 797% 807% 81%% 827% 83i% 847% 85
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 11 21 17 23 19 23 20 21 14 27 15 19 18 13 12 16 9 16 12 21
ENY= 2TH 6 11 9 11 7 10 12 10 4 9 6 8 2 8 5 6 6 4 2 9
ENY= 3TH 14 13 24 21 10 10 14 22 12 7 10 11 8 14 9 12 5 10 3 12
HING 4TH 18 16 18 23 16 21 18 21 11 25 10 12 13 18 9 23 14 16 10 17
EXINY = 5TH 12 15 23 21 12 27 17 16 18 15 12 16 10 11 8 20 7 13 12 27
ENY= 6TH 21 18 11 14 13 20 19 17 13 14 9 15 8 11 10 13 9 25 10 19
NG 1TH 22 32 22 27 23 22 13 32 16 38 16 27 20 16 5 11 10 18 17 35
NG 2TH 5 16 8 7 6 14 6 14 13 5 5 7 4 4 2 12 3 5 4 15
NG 3TH 31 25 21 33 15 17 14 29 19 21 14 28 10 15 18 36 13 22 12 16
NG 4TH 16 25 11 19 19 11 13 28 13 15 7 16 9 14 8 14 3 16 10 10
NG 5TH 9 11 18 15 14 15 11 18 9 14 9 14 8 12 12 10 6 12 5 13
mE/INE 1TH 8 10 10 16 8 13 12 13 10 10 5 7 11 18 8 13 12 11 6 9
mE/NhNE 2TH 13 18 21 25 11 36 20 35 17 29 15 24 16 27 16 31 11 22 13 37
m/NhNE 3TH 14 14 19 21 16 24 20 23 13 20 11 16 12 15 10 12 12 18 8 16
mE/hNE ATH 14 8 18 30 22 18 22 28 14 29 14 13 10 15 13 17 15 14 8 23
mE/NhNE 5TH 19 16 27 14 14 25 12 31 14 20 10 18 12 17 11 19 9 22 8 16
mE/hNE 6TH 27 32 22 30 22 20 16 16 13 30 11 24 12 10 8 18 15 24 17 15
m/hNE 7TH 25 24 40 41 25 37 24 46 20 20 19 30 18 26 18 27 17 30 22 28
m/hNE 8TH 16 24 15 18 13 24 14 15 22 5 7 17 7 17 6 14 7 9 9 6
d/hE 1TH 7 9 8 14 12 16 9 13 4 11 4 8 2 3 2 7 4 6 4 13
d/hE 2TH 23 31 22 30 24 22 13 28 14 36 17 27 7 15 15 28 15 22 16 24
d/hE 3TH 14 12 10 11 11 12 12 20 5 17 8 15 12 13 4 14 10 12 6 7
d/hE ATH 25 20 19 28 14 35 25 24 18 28 9 22 8 21 19 20 18 14 14 11
d/hE 5TH 13 3 18 18 12 17 14 18 10 14 19 18 4 7 3 19 6 14 11 17
d/hE 6TH 17 36 18 22 25 22 26 30 10 23 21 27 11 13 15 20 12 21 7 10
d/hE 7TH 10 15 16 19 10 11 15 20 19 15 8 15 10 16 10 17 7 16 3 14
dt/ha 8TH 18 15 13 22 12 23 24 23 11 14 19 25 16 13 11 14 14 16 6 21
&5 428 490 478 573 405 545 435 611 356 511 310 479 278 382 267 463 269 428 255 461
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNEEFS) ER33ETA1H
R 867% 87 88i% 89i% 907% 9158 927 93 947% 955%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

ENY= 1TH 9 14 12 14 5 4 4 12 2 8 0 7 3 4 0 6 1 3 2 2
ENY= 2TH 1 3 3 4 1 2 4 9 1 2 2 9 3 7 5 1 1 2 0 0
ENY= 3TH 9 13 7 15 3 5 7 6 4 5 2 9 1 5 2 5 0 5 4 3
EXINY = 4TH 18 23 4 11 6 17 3 13 4 16 2 10 4 11 5 6 0 2 0 4
EXINY = 5TH 2 15 8 15 7 11 6 10 5 8 1 6 3 7 1 6 3 6 0 5
ENY= 6TH 5 11 8 12 5 18 6 12 5 4 2 5 3 8 1 3 1 5 0 3
NG 1TH 8 15 11 19 7 18 6 18 3 4 4 7 4 10 2 7 1 6 0 7
NG 2TH 3 5 6 3 5 3 1 5 0 5 1 5 1 4 0 7 1 1 0 3
NG 3TH 16 23 10 17 8 14 4 14 10 13 7 15 6 12 3 9 4 6 6 5
NG 4TH 6 15 4 17 7 16 3 7 7 9 1 3 2 5 0 2 1 4 2 0
NG 5TH 2 11 4 10 0 9 4 6 4 13 2 8 4 3 0 6 3 2 1 3
mE/INE 1TH 5 13 7 6 1 7 3 2 1 6 2 1 0 2 0 2 0 2 1 1
mE/NhNE 2TH 13 12 19 17 5 13 7 12 8 6 3 8 2 12 0 8 1 2 2 2
m/NhNE 3TH 7 12 5 8 4 12 2 6 3 11 10 6 3 8 0 10 1 5 1 7
mE/hNE ATH 7 22 5 9 9 11 5 12 5 12 1 7 0 6 1 2 0 3 0 3
mE/NhNE 5TH 9 20 5 11 5 11 4 15 10 11 0 7 4 11 3 12 2 9 3 2
mE/hNE 6TH 12 16 9 14 11 12 2 18 4 18 1 10 2 10 1 8 2 5 2 6
m/hNE 7TH 18 20 9 20 8 17 9 11 5 13 3 8 2 3 2 5 2 6 1 2
m/hNE 8TH 1 18 3 13 8 12 3 5 5 9 5 2 0 4 0 4 1 3 1 4
d/hE 1TH 5 7 5 3 2 5 1 7 2 2 2 2 0 2 0 3 1 2 2 1
d/hE 2TH 7 21 7 15 7 15 8 9 7 15 7 12 2 10 3 7 0 1 2 4
d/hE 3TH 5 9 6 6 2 2 6 7 2 3 1 3 2 3 2 0 0 5 1 3
d/hE ATH 13 19 5 10 7 11 8 12 4 9 2 11 4 6 1 7 1 5 0 4
d/hE 5TH 4 12 4 10 4 10 6 8 4 11 3 4 1 14 1 2 3 8 0 4
d/hE 6TH 10 21 8 9 10 16 4 13 4 11 4 9 4 4 1 3 2 6 1 6
d/hE 7TH 9 15 5 1 9 12 3 9 2 7 5 14 2 5 0 6 2 2 0 5
dt/ha 8TH 10 12 4 13 5 12 3 7 8 11 0 6 5 6 0 3 0 1 0 1
&5 214 397 183 312 151 295 122 265 119 242 73 194 67 182 34 140 34 107 32 90
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) TER33ETA1H
R 1067 1075% 1085% 1097% 110%% 1115 125% 1135% 1145% e &5
5 = L = g8 = g8 % L ©

HING 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2041 | 2039
HING 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 830 815
H/IMNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,397 | 1,345
XN = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,698 1,820
HINE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1850, 1914
H/IMNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1616 1,650
m/IhNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2751 | 2729
LN = 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,113 | 1,065
m/IhNE 3TH 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0| 2564 2680
N = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,642 1,624
m/IhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,938 1,890
m/hNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,086 | 1,072
mE/NhNE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1665 1,787
m/NhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,747 | 1,643
mE/hNE ATH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1617 1,614
mE/NhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1952 1,880
mE/hNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2017 | 1,998
m/hNE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2,787 2,771
m/hNE 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o/ 1816 1,757
d/hE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 1,107 | 1,159
d/hE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2643 | 2709
d/hE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,295 1,240
d/hE 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2313 2174
d/hE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1517 | 1528
d/hE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2363 2264
d/hE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,615| 1,622
dt/ha 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,823 | 1,898
&5 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 | 48,803 | 48,687
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